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Tiwa dimgram balow hows a traa.

Which of the Tofiowing stalements about ha bres isfane cames)?

LS It makes its ova food,
H N s farwaring plant.
L It hasd a simng stam,

A. Bonly
A and C only
C. BandConly

v ' D. A BandC

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 26th Oct 2021
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Question 2

A. They have legs

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 3

29,457,485

What is the similarity between mammals and reptiles?

They live only on land
They obtain food from other living things

D. They have the same type of body covering

Multiple Choice
No

Tue 26th Oct 2021
N/A

29,457,489

Threi ideniical glicas of bread wera pul into thrae
The jars ware placed in the SClenca room

[— Jr——y
walsr =
gdded
dar X Jar Jar 2

walar kg nol added and
brapd ip not toasled

WWhich of e follkving shows the most dkely abserasion alter fres days?
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rdentical glass pars, X, Y and 2.

bresd i
tpasied and
allownd 1o
ol balora

pultng Im jar
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| Bread s not mouldy Broad Is slhgivily | Bread is very rrouibdy
] Friisdly | :
{1} | £ | ¥ X i
12| Z X -
i) ¥ "z . X
14 ¥ X £ -
v A 1

B. 2

C. 3

D. 4
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diamp cotfon wool - i

ClassMarker - Manage Test

Primary 6 Science » Primary 6 Science (Prelim)

Lyrin ereatad the set-upg shown bakew and et Bwm in fhe classmoopm.

COvET

— gubstarmca that shaorbs
TGN

-

iabke

wodden
COnELner

Tee0s

Coar

Bubstance [hal &bsorbs

table

damp coltan wanal '-uqll_' e ban dincids
.-"jr v

SRR

sal-up ¥

I wihich sst-upda) will L aeeds peminete?
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Randomize Answers: No
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Question 5

Muiltiple Choice

Tue 26th Oct 2021

set-up X | seb-up ¥
{1 ¢ v =
121 R !
ey X ]
{4} ! i R
A 1
v B. 2
C. 3
D. 4
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The diagrams below show the reproductive pans of a liower and & humarn,

R o~ :-‘:*@
IiI w .
' L VR 15

Py B 0 J‘j 3

{ |

o Iﬂ Il| [ i
Gyr—- - L7
g8 i
reproducive reproductive
part of & fiower part of a Buman

Whach parta of Ba systems shown above Maave simelar Tusclon?

A. Aand Xonly
B and Y only
¥v' C. CandXonly

D. DandY only

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,501
Question 6 Primary 6 Science » Primary 6 Science (Prelim) 1 pt

W Tan has afamgrowing Doth irult rees and wegetabiss, Ha noticed thal tha
leavis of his vegatables wane damaged with hodes by the young of insect K

A
D"%_ ke
<

The sdults of insect K only cotact nectar from the flowers of the fruit tress in
the farm and hedp o pollinate the Sowers

4 Tan dedded b spray peshcide on the legves of hig vagatablies so thet ey
will st ba damsged,

Whict of the foBowng will lkaly be the resull af he wse of pesiicide afier
soms rma?

Lags frks will be codected.
Ioie fruits will be collecled,
Lees vegatablog will b collected.
biore vepelables will be colkcled.

onoe

A. Aonly
D only
v C. AandDonly

D. BandConly
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Alex made two paper aliplanes with dilfarant wingspan

e

"osngy

Het released each aimplans from the same hasght and location and recorded iha

FesUE 2% shown in ihe iabia,

| Length of wingspan 4 o & em %
Tierne Lakan for tha AE 125 1
airplane to reach the ]

novurl _ .
Distance trevelad by lhe 22 cm 55 cm :
piEne L

Truil &

Alpx found frulls & and B in a gerden. Based on the above expedment, which
young plant of the fns is likely not 0 scparenos ovemmesding?

Young plant of | Reagan
fruig | i
! fy 2 | A has a langer wingspan and will iraval a further
i | diEtares Sy
() A | A has 3 onger wingspan and will take a shortar time
| to reach the ground,
(%) B i B has a shooer wingspan and will oreval 8 shomer _"1
dmbance away. L
(4] B ' B has 3 shorer wingspan ard will ke 3 longer tms
~ | 1o reach the geourd
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The table below shows infosmalion on organisms M and b,

Characte rsfic ! arganizm M arganism N
| e S i |
Maads air, Tood and + ’
walar b sunive | |
Has a oail wall | Ll | + .
Reproduces by spores | ] "’ : !

Wikich of the fallowing comactly reprasants arganisms b and N7

) B Crganism M | Drganksm N .
[1) noT-Tiowsienng plant { non-frwering plan i
{2 Tipwening planl | _ Fondid :
[3] Tiowearing plant | mon=lenwaring plant f
g T = 1
{4} nio=enweriog plant | flowranng plant
A 1
2
v C. 3
D. 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,519
Question 9 Primary 6 Science » Primary 6 Science (Prelim) 1 pt

https://www.classmarker.com/a//tests/test/?test_id=1841171 6/42


https://www.classmarker.com/a/tests/qb/manage/?test_id=1841171&question_id=29457513
https://www.classmarker.com/a/tests/qb/manage/?test_id=1841171&question_id=29457513&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1841171
https://www.classmarker.com/a/tests/qb/manage/?test_id=1841171&question_id=29457519
https://www.classmarker.com/a/tests/qb/manage/?test_id=1841171&question_id=29457519&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1841171

11/1/21, 8:12 AM

ClassMarker - Manage Test

The diagram bolow shows a gseding. The armows show the transponation
of substance & and B iaside fe ssadling.

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 10

Multiple Choice
No

Tue 26th Oct 2021
N/A

29,457,523
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1 'Y i
¥ ;' | ranspe of :
; subsiEnce & |
| + |
1 'I'u : I
g5 4 {ranapart ura |
rnnl—-t' | | bt
Basad on Ihe diagram, which of the folowing s comect?
f substance A [ substanco B
(1 L WERET | wEter 7
(21 food ! [ !
3| fesd | waber .
4y | ainr | food i
A 1
2
v C. 3
D. 4
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Question 11

ClassMarker - Manage Test

ups warn
placed unciar a lighl sounce for ene day
[ glass b
wing mesh
iuheﬂmmkﬁg o meset A
sileUp X set-up ¥ sel-up Z

Substance K changas calour when Bere i e charge in he amnourd of carkan
Fioxide as shiawn in e able balow.

amaunt of carbon diaside eadaur |
_incrsE vellow ]
_____remain ihe same __red |
(I ' purple !

Bazed an iha abova sei-ups, which of the olowing is correct al the end of
ong day?

: aal-up ¥ sotup ¥ set-up 2
[k el i red surpla
(Zh puple purpa [ i
[ yaliye | el e
43 yellora I pure | el
A 1
2
C. 3
v' D. 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,579
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The diagram belrs shows the flow of Bood in & eman body

| lumga
A e
Dmgan T

I All olihar pars !__J
of the body |

Basad on the diagram above, which of the follosing is comec T
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Question 12

The falicwing takes piace in plants whan thare iz ipht

fporocges
plarnl ————— food ¢ gas X

| OmanT | Bisedrichin | Biocdrchin |
CHYOEN carbon dioxide
(L hear JAandD | 0 BandC
4] nose and D hoard G |
5 I heart BandC Aoargd D !
{4} Misge A g O i B ard O }
v A 1
B. 2
C. 3
D. 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,582
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kertily progoss O and gas K.
process O oas X
(13 gerRnEtion ) {_ carbon dioxide L
2] ferblisalion oEygen ——
(9) | poliington S carbondioiide |
(] phitcsynihesis | Ry En |
A 1
B. 2
C. 3
v' D. 4
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Lins created the sel-us shown below

She measured the number of bubbles prxluces by the plan: for ofne micuse,
She rapested the expardment with dfferant values of X and recorded har

obsareationa In the table befow.
i variable X {unit) | amount of gas collected (em® |
15 AR 32 i
35 | 27 !
= 36 18
L a8 ! @

Based on tha imommation shown shove, which of the following B vanable X7

A. light intensity
number of leaves
C. amount of carbon dioxide

v D. distance between the lamp and water plant

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 26th Oct 2021

Last Modified: N/A

QID#: 29,457,590
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Thi tabih Below shones e organisms @oa pond. Animal Y eats plant X only,
plant X
Plant W graw at & very fast rate and covered the suface of the pond within
bwo weks.
Wihich of the fallowing grapns comactly shows the chamnds in s e of
gnimal ¥ after two manths?
v A
numerer of
animal ¥
= 111]-]
B.
nirmber of
anirral ¥’
3
= e
C. mamber of
apimal ¥
tere
D.
furnber of
anirrmal ¥
* fime
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 26th Oct 2021

Last Modified: N/A

QID#: 29,457,605
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The gchure shows o camgang tend. Part B 5 a window

Tiha tabla balow showes tha nMauffuwdﬁénam matarials. W, X, Y and

i
Properties
Matarial wal:nrfrw’r | traneparent | strong  flexible
e X =
| x I "«I I al ] W
¥ = \ I Y
S |

Which one of the following shows the most suilable material for pars 4. B
and G of e camping tent?

1)
{2
(5
4]

=) e || |2
Z|<{xnin

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 26th Oct 2021
Last Modified: N/A

QID#: 29,457,611
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Study the dagram bekew cansfully
_ B o— = i ST
—— |
| ie ; | watar | 2 slaam [
SR e 5 b

Which af the fellowing showe hast lnes thring Bg procecaesT

A. Bonly
A and C only
v C. BandConly
D. AandD only
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,616
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George filled two containers, A and B, wih the samse smount of water snd
pliaced tham al hwo diferent lcations. He messuad the valurne of water |eft
in @ach contained at egular inlensads over some tme and plotied the grach
helorer

iolume af waler bt ml)

Timee [man}

Based on the grapgh, which ane al the folowing slatement |s most liRedy
carreat?

v" A. container A was in a location with a higher temperature than container B

container A has a smaller exposed surface area than container B

C. container B has a larger exposed surface area than container A

container B was in a location with a higher temperature than container A

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 26th Oct 2021
Last Modified: N/A
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Question 18
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Threa 200 crm? conical Rask. A, B and G are jioned to an air pump as shown
in fhe disgram below.

A

50 em® of
Wandan
=] ock

The handle of the air pumg s pushied down three imes, pushing in 50 cm® of
airwith sach pumping eclion,

Whal is the final veluene of & @ esach flask at the end of the experment’?

Date Added:
Last Modified:
QID#:

Questio

Question Type:
Randomize Answers: No

Multiple Choice

Tue 26th Oct 2021

N/A

29,457,630

n19
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Flask & fem’) | Flask B (em) ~ Flask T jemY}
{1 B BS0 G50
{ : 450 300 1
5 500 500 -
i#) E50 G0 i
A 1
v B. 2
C. 3
D. 4
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Shuely tha circul balow. Bulbs & and B are identical and the thres batieries
arg wleniical A% the start, bulty A is unii wihile bulb B is K with & brightness of
10 umits

e jran rod Bk,

I GO—Hh

meeral spuing

Luls B
1 G0

if the button is pressed and held down, whal would happen io the brghiness

of bullys A and B7
i bulb A bubB
i1 rnare than 10 urdls same &5 10 unils
(24 will nat kght up wil el Bght up !
(3 rricoa thian 10 writs | maore than 10 units |
(4} will o Bght wp | same as 10 unls
A 1
2
v C. 3
D. 4
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,635
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The diagram below shaws two circuiis, & and B. Each of ihe cncwit has a
sleal rod, & gless rod and & plaste: rod which i representsd by fhe bBlack

reCiangies.
—11}— — 11
® |] @

circil A cancii B

Which chservation i comect baied on the above circuls?

bulk in circull A | bulb iin circuit B
{1} dhaes nol Ught g i deses nod light up
(2} dhoes niol Sghl up i gy Lp
3} e fghts up i deves e lighd up
) _fonsup ) Ighisvp =
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A 1
B. 2
v C. 3

D. 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,636
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Question 21

Al constructed a game using twao battenes and four light bubs holder W, X,
Yand & The wires weare hidden Behind the card,

AR e b find st bow W, X, ¥ and 7 were connechsd usIng thress identical
fight bulbes. His fingings are ae shown bakew,

e

There is no bulb at | Findings
W | bulbrs ol holder X, Y and 2§ up |
X bulbs 3t holdes W, ¥ and Z lit up i
g bulbs a1 holder W, X and T did not fight up
, z bulba ai Fedder W, X and ¥ did ot ight up ‘!

Which of the following shows the cored cimcuit of tha sai-up.

@

https://www.classmarker.com/a//tests/test/?test_id=1841171

1 pt

16/42


https://www.classmarker.com/a/tests/qb/manage/?test_id=1841171&question_id=29457636
https://www.classmarker.com/a/tests/qb/manage/?test_id=1841171&question_id=29457636&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1841171

11/1/21, 8:12 AM

Question Type:
Randomize Answers:
Date Added:

Last Modified:
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Question 22

A

1]

[ o5

A. Aand Conly

v B. AandD only

https://www.classmarker.com/a//tests/test/?test_id=1841171

T

23tourng

Multiple Choice
No

Tue 26th Oct 2021
N/A

29,457,646

13 lurmns

ClassMarker - Manage Test

Primary 6 Science » Primary 6 Science (Prelim)

Jame vwants to find out wihether the number of lums of the wire amunds e
sleal rod affects (he strengih of B sleciromagne

Winizh two.set-ups bedow should abe choose to conduct a fair lest?

!])——J

15 hiemz

[ —

22 e

1 pt
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C. BandConly

D. BandD only

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 23

'-,--""Er’E
*

A playing a vichn

A. Aonly
B. Conly
C. BandConly

v ' D. A BandC

Question Type:

Date Added:
Last Modified:
QID#:

Randomize Answers:

Question 24

Multiple Choice
No

Tue 26th Oct 2021
N/A

29,457,649

B: swaaping the foor

Which of the example(s) wwvolvela) fridion?

Multiple Choice
No

Tue 26th Oct 2021
N/A

29,457,655

https://www.classmarker.com/a//tests/test/?test_id=1841171

ClassMarker - Manage Test

Primary 6 Science » Primary 6 Science (Prelim)

The dingrams below show thres examples of how Torcsss anes wsed,

Primary 6 Science » Primary 6 Science (Prelim)

1 pt

1 pt
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Alex redeases 3 ball irom the dop of fha ramp as shown bakow!
E
Tetal distance fravekad by e ball ~
Which cne of e falknwing gragh shows e gravitational forca scting on tha
ball?
[
Granitatisnal
e
| :
o Distance
Gravitatioral
forca
|
o Distarca
v C
Garani i tionea]
force
0 Dmmr
D.
Gravitabonal
[aTq "]
T
L
0 Distance

https://www.classmarker.com/a//tests/test/?test_id=1841171
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,664
Question 25 Primary 6 Science » Primary 6 Science (Prelim) 1 pt

Jopre 52t up three magnets AR, CO. EF and a steel bar GH as shown in e

arrangement below
la B [c plEe F
G
A= nar
’I H
|58

Which of the fuliowing = comact?

A.
& BiF
D
=
- e
H g |
B.
H G|
A a |
C.
d Ale
H
F
G
c
v' D
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1D C
i
B Al F E

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

them

Bieakar A
S0ml of water
al TR0

A. Beaker A
Beaker B
C. BeakerC

v’ D. BeakerD

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 26

Question 27

Muiltiple Choice
No

Tue 26th Oct 2021
N/A

29,457,672

Primary 6 Science » Primary 6 Science (Prelim)

Four |dentical beskers, filled with difereni amount of waler of differend
tarmperaturas, ane wsad in an axpariment 1o test the amount of heat in each of

Beskar [
1250l of waber
at 307G

al ga~s

Which of the four baakers Fas the most amoent of heat?

Muiltiple Choice
No

Tue 26th Oct 2021
N/A

29,457,729

Primary 6 Science » Primary 6 Science (Prelim)

https://www.classmarker.com/a//tests/test/?test_id=1841171

1 pt

1 pt
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Thres matenals of the same size, thickness amd femperalure were healed with
the 2ame heater. Tha fime faken for the temperature of the hree materals io
increase by 1070 were retorded in e e shown,

Material Tima taken Lo increase the temperature by 10°C (min)
X | [3 S .
Y 2
z L] ;

The matesale ware then ussd (o make the EEswing containers and pats. The
game amcunt af bt water 51 80°C was poured info each pot

Which of the following set-ups would keep the water hoftast for the longest
tema?

ot water

b}
¥
hioL watar
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added:

Tue 26th Oct 2021

https://www.classmarker.com/a//tests/test/?test_id=1841171
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Last Modified: N/A
QID#: 29,457,759
Question 28 Primary 6 Science » Primary 6 Science (Prelim) 1 pt

The diagram bifcw shows how the Epring inside the weighing scale works
when a person stands on it

Whan & pemmon
When nohicey
strnds onthe sosis i

scala

engh of
IpEg

/-ﬁt B

g

Lk

The tabie beiow shows the length of the sprng when persens A B and ©
stood om the weighing scale, ons 8 a tima,

T Persen | Lengtn of &pring (mm)
A ; 10 |
- —
C e 16 1

Bazed on the information providiad, which of tha folowing I8 cormect?

| Person who caused the spring 1o have the | Pareon with the |
most amount of alastic potential esergy mosl mass
| when he stepped on the weighing scale

(1) E] 8
(2) B 5 e
& C A
@ | & | -
v A 1
2
C. 3
4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,763
Question 29 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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11/1/21, 8:12 AM

Mr Wee i fhe owner of 3 fishfarm. He observed thal when the temparsture ol
the water in the: figh pond is highar, more of the fish disd.

He eonducted sn sxpadmant o measire the ameaunt of oxpgen in the water al
differant temperalures. His results ars shown in the graph below

Arncuni af oupgan in tha wates | units)

“‘\H\x

™

Tempesabire of
> the watar ")

Basad on tha graph, what happeis 1o the stount of oxygen in e waker wiven
the wiabar is coskeT [Tm)

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,767

Correctly answered feedback

The cooler the water, the more the amount of oxygen in the water.

Incorrectly answered feedback

The cooler the water, the more the amount of oxygen in the water.

Question 30 Primary 6 Science » Primary 6 Science (Prelim)

b) Mr Wee observed that the breathing rate of the fish increased as the temperature of the water

increased. Using the results of his experiment, explain why.

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,774

Correctly answered feedback

As a result the fish had to breath faster in order to get enough oxygen.

Incorrectly answered feedback

As a result the fish had to breath faster in order to get enough oxygen.

https://www.classmarker.com/a//tests/test/?test_id=1841171

ClassMarker - Manage Test

As the temperature of the water increased, the amount of dissolved oxygen in the water decreased.

As the temperature of the water increased, the amount of dissolved oxygen in the water decreased.

0 pts
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Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Question 31

c) After Mr Wee grew some water plant in the fish pond, he observed that less fish died when the water
temperature increased. Based on the experiment, why was this so?

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,790

Correctly answered feedback

It was because there was more oxygen in the water as the plants photosynthesised and oxygen
was produced, hence, event as the water temperature increased there would be more oxygen to
the fish to breath in comparison to thew oxygen in the tank when the temperature increased and

did not have water plants.

Incorrectly answered feedback

It was because there was more oxygen in the water as the plants photosynthesised and oxygen
was produced, hence, event as the water temperature increased there would be more oxygen to
the fish to breath in comparison to thew oxygen in the tank when the temperature increased and

did not have water plants.

Question 32 Primary 6 Science » Primary 6 Science (Prelim) 1 pt

Mr Tan created bed set-ugs ag shown balow. Before the expanmant, both leather
shoes wane Kiplin a cupboard o0 & long tims and 25 & reswull, 8 dark patch grew

on gach shoe.

sot-up W

What was the dark patch that gresw on both shoes? {1m)

Accepted answers:

¥ mould

Question Type: Free Text

Date Added: Tue 26th Oct 2021

Last Modified: N/A

QID#: 29,457,794

Question 33 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Mir Tan wanted to investigaie if subsiance K can help remove the dack patch,
Bafow I8 an instructizn an how 10 w=e substance K

Place substance K next o lealher products |
viith davk patches. The pafchas wil
disappzar within five danys!

ailler ive days, pAr Tan was peeased to sae thad the dark patch on e shos iy
sal-up X was gone.

What did substance K remove from set-up X7 Explain your anawer, (2m)

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,801

Correctly answered feedback

Moisture. Without moisture mould can it grow as it did not have enough water, hence, it will die.

Incorrectly answered feedback

Moisture. Without moisture mould can it grow as it did not have enough water, hence, it will die.

Question 34 Primary 6 Science » Primary 6 Science (Prelim) 1 pt
The dagram shows the develogment of & lower into a fruit.
clpsa-up Wew of par ¥
A pollen grain
i m
process T
g i _.a._.?_f_‘:':-’_
T e -”"'-"_.._tu‘r“'-__?f;-_—__:._ !

Base on the close-up dew of par X, dentity peociss T, {tm)

Accepted answers:

v pollination

Question Type: Free Text

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,805

https://www.classmarker.com/a//tests/test/?test_id=1841171 26/42


https://www.classmarker.com/a/tests/qb/manage/?test_id=1841171&question_id=29457801
https://www.classmarker.com/a/tests/qb/manage/?test_id=1841171&question_id=29457801&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1841171
https://www.classmarker.com/a/tests/qb/manage/?test_id=1841171&question_id=29457805
https://www.classmarker.com/a/tests/qb/manage/?test_id=1841171&question_id=29457805&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1841171

11/1/21, 8:12 AM ClassMarker - Manage Test

Question 35 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Sy the twa Fovvers Shosan halow

[

fiowar 1 flower L

Onowrdah Nower{s | can process T taks place™ Explan yvour answer. [1m)

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,809

Correctly answered feedback

Both they have a stigma for pollen grains to land on

Incorrectly answered feedback

Both they have a stigma for pollen grains to land on

Question 36 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Flowear M shon Balow is found in the same iocaton &8s flowee L. Them is no
wing and there are beas fiying around.

Fiomwer i
o | Flessar L Flower M
[Cobrefpetas  aa coiourfu
S no sl EHl'EEIl—ElﬂEi"lI‘rg

Bass on the miormation provided. which fioeer, L ar M, bas a8 gher shance
o guing thmmegh prodess T with the halp of the beex?

Expiain your amswar, (2m)

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,814

Correctly answered feedback
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M. The bees will be attracted to the sweet smell and transport the pollen grain to the flower

Incorrectly answered feedback

M. The bees will be attracted to the sweet smell and transport the pollen grain to the flower

Jason conducted an axpenment with theee plants, X, ¥ and 2. as shaen i be
d@gram. The plarts woere placed n a wall-it area and ghven the same amaunl
of waler daily,

After some dme, ha measursd the mass of the et in each set-up, The mesulls
are s in the table batow,

| Pt | Number of leaves Mass of fruit {g)

| | o the planit Slan of experiment | End of experiment
B 8 B 18

! Y ! 4 T " P

! I | jl_ - E 10 !

Based or the Skbde, sEbe o possible value Tor P {1rm)

Accepted answers:

v’ 149

Question Type: Free Text

If all the leaves in plant X are removed, would the mass of the fruit for plant X increase, decrease
or remain the same after some time?

A. increase

v B. decrease

https://www.classmarker.com/a//tests/test/?test_id=1841171

Question 37 Primary 6 Science » Primary 6 Science (Prelim)

Date Added: Tue 26th Oct 2021

Last Modified: N/A

QID#: 29,457,819
Question 38 Primary 6 Science » Primary 6 Science (Prelim)

1 pt

1 pt
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C. remain the same

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 26th Oct 2021
Last Modified: N/A

QID#: 29,457,825

Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Question 39

c) Insect E is a pest which eats its way into Part Q of plant X. Explain how this affected the growth of
the roots in plant Z

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,833

Correctly answered feedback
The roots will not be able to get food as the food carrying tubes have been eaten by E, hence, it will
die

Incorrectly answered feedback

The roots will not be able to get food as the food carrying tubes have been eaten by E, hence, it will
die

Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Question 40
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Jig Hao crasted the sal-Uup shown balow. He placsd two pisnds in containare A
and B and flied all thres conlainers with the same smaunl of water.

This thee set-cps were placad in the garden for five days.

Thaz lathe {sdow shows the Smoun! of wabes in e msksunng q::,uLinﬂlE: al the
start and 2 the end of the sxperment

g Set-upAjml) Sat-up B {ml} _ Set-up C {ml}
I i — jﬁ S . . nco
T Dayh 1200 ' 1150 1300

Jia Hao concluded that the pland in sat-up B took in 250m] of water, Explain
wihatnar e conclusion &5 cormct, {1m)

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,933

Correctly answered feedback

No. The water in the beaker may have evaporated when the water gained heat

Incorrectly answered feedback

No. The water in the beaker may have evaporated when the water gained heat

Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Question 41

b) Jia Hao would like to find out if the presence of roots would affect the amount of water taken in by
the plant using Set-up A and B.

What are the two changes he must do to the plant in set-up B in order to conduct a fair test?

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,942

Correctly answered feedback

1. Remove 2 leaves from the plant
2. Remove the roots from one of the plants
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Incorrectly answered feedback

1. Remove 2 leaves from the plant
2. Remove the roots from one of the plants

Question 42 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

A lesf hes tiny openings on ite euface as shown In the dagram below. The Ly
apenings allows gassows exchange o take place far B plant,

leal
q

Jane measured the charnges in e sbe of the ey openings of sorme leawms on =
plant. The plant was placad i the schaal fisld for a day. She secorded har resulis
In the table below.

| Tirme darm Bam | 12pm | d4pm ABpm

Average size of the tny 1 3 5 | 3 1]
| OpEnngs {urtits) :

Based on the fable, how did the soe af the tiny openings change from dam o
12pm? (1m]

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A

QID#: 29,457,946

Correctly answered feedback

The size of the tiny openings increase

Incorrectly answered feedback

The size of the tiny openings increase

Question 43 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

What is the advantage and disadvantage to the plant when the size of the tiny openings are bigger?

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A

QID#: 29,457,952

Correctly answered feedback
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Advantage: The plant can take in more oxygen for survival
Disadvantage: More water in the plant will gain and evaporate

Incorrectly answered feedback

Advantage: The plant can take in more oxygen for survival
Disadvantage: More water in the plant will gain and evaporate

Qu estion 44 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Which human body system has a similar function as the tiny openings on the leaf?

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,955

Correctly answered feedback

Respiratory system

Incorrectly answered feedback

Respiratory system

Question 45 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Andy sat wp the expenment a8 shown below. He placed the set-up in & dry
place.

T TN plastic cover with iy holes

tah Whaet will o= formmed under the glastic sheat after some bma? {1m)

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,959

Correctly answered feedback
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water droplets

Incorrectly answered feedback

water droplets

Question 46 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

b) He noticed that there is a drop in the temperature of the air inside the small pot. Explain why

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,964

Correctly answered feedback

Water gains and evaporates. The water vapour escapes, causing the temperature inside the small
pot to be lower

Incorrectly answered feedback

Water gains and evaporates. The water vapour escapes, causing the temperature inside the small
pot to be lower

Question 47 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

c) After several hours, he noticed some water collected at the bottom of the small pot. Without
changing the set-up, suggest one way to increase the amount of water collected in the small pot.

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,967

Correctly answered feedback

Place the set-up under hot sun

Incorrectly answered feedback

Place the set-up under hot sun

Question 48 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Mary constructsd circult A, as showm bekow, Al the bulbs Tit we ncincuit A,

Ili'.in::url:h

(@l Mey removed one of tha bulbs fram crewt A and the other o bulbis did
ot light up. Which bulb did May remove? Expdain your anewss (2m)

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,972

Correctly answered feedback

X. When X was removed it caused a open circuit and electricity could not pass through

Incorrectly answered feedback

X. When X was removed it caused a open circuit and electricity could not pass through

Qu estion 49 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

(B} May wanid o reamangs bulbs X, Y and X such that when one of the
bt is fused, the remairing teo buibs will cordinue i Bghl w Complede
thi circuit diagrarm to show this new arrsngamsant. 1m)

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,974
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Correctly answered feedback

>

Incorrectly answered feedback

T

Question 50 Primary 6 Science » Primary 6 Science (Prelim) 1 pt

Tha diagram bebow shows 8 model that can detect the amouni of water ina
stovrage systam, When the amcurd of waler reaches & cedain el the alarm
saUrets 1o alert Mat the storene systam & fisl

I:I Blanm

=Tl = 1T [
e DN ——
!—
wiibér in Stseage — — wexxinn block
spslam =
—

water enlening the system

{c)  What matenal must part P oand O e mads of? (1m)

Accepted answers:

v metal

Question Type: Free Text

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,980
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Question 51 Primary 6 Science » Primary 6 Science (Prelim)

d) Explain the answer for part (c)

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,987

Correctly answered feedback

metal is an electrical conductor and allows electrical to Flow through

Incorrectly answered feedback

metal is an electrical conductor and allows electrical to Flow through

Qu estion 52 Primary 6 Science » Primary 6 Science (Prelim)

Joe £at up an expariment as shown below, He pulled the box up the plank
using & spring halnce, He rapested the expaniment using dffarent vaies af
the anghe,

b spring mwﬁ-

o, P

e .

ange

He plotied & Eme gragh 80 show the resulls of the expediman

pullirg force

angla ()

(8) What & the rdatonship hetwaen the angie and the puling force nesded?
(1mi

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,990

Correctly answered feedback

The bigger the angle, the more the pulling force

Incorrectly answered feedback

The bigger the angle, the more the pulling force

https://www.classmarker.com/a//tests/test/?test_id=1841171

1 pt

0 pts
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Question 53 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Joa wanted 10 push @ box up a plank o the back of 8 ek a8 shown beiow,

argle
The table below shows the vaiues of the angels

= long plank | shon plank
[ Vafue of angia () 40 ! 60

{b] Basad on the graph mnd kable, why f is a disadvantage to push tha box up
tha truck Lging the shart plank? Explzin in erms of forces. (2m)

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,457,998

Correctly answered feedback

The angle is bigger. Hence, Joe would need to exert a bigger push force than using the ling plank
in order to push the box up the short plank

Incorrectly answered feedback

The angle is bigger. Hence, Joe would need to exert a bigger push force than using the ling plank
in order to push the box up the short plank

Question 54 Primary 6 Science » Primary 6 Science (Prelim) 1 pt

- David sludied how the car gark barricr operabes using e circuil as shown,
Winan he closed the swilch, the waight maved dowrwands ard fouch md X
causing the car park baomar 1o fsa.

Ilr_:—l- .

waight ‘*I;t i| car park barrier
gacincal

SO 4

[a] Forihe cafpass bamer o wark, give an exampie of a metal that the
waight can he made of. [1m)

Accepted answers:

v’ Cobalt
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Question Type:
Date Added:
Last Modified:
QID#:

Question Type:
Date Added:
Last Modified:
QID#:

Free Text

Tue 26th Oct 2021
N/A
29,458,002

Question 55

Essay

Tue 26th Oct 2021
N/A

29,458,012

Correctly answered feedback

Incorrectly answered feedback

Question 56

AE

ClassMarker - Manage Test

b) Explain why the weight touched rod X after David closed the switch

Primary 6 Science » Primary 6 Science (Prelim)

Electricity can flow through the circuit, causing the rod X to be magnetised. The electromagnet
attract the weight which is made of a magnetic materials

Electricity can flow through the circuit, causing the rod X to be magnetised. The electromagnet
attract the weight which is made of a magnetic materials

Primary 6 Science » Primary 6 Science (Prelim)

& heal camera can show differsnt lemperatures. Each rasmber = reprasenbed

6G1-710)

| 7180

by a different shade of colour,

- Temperabupe | 27-30 3140 41-50

. ("C) —
"R o

B

a

\&/ e

L

Harry was given 4 cupsof waler, W X, ¥ and Z Whan ha viewad ths water in
tha cups fheough ihe heat camers, the fTollowing colburs wirs obsanad,

https://www.classmarker.com/a//tests/test/?test_id=1841171

Cup W Cugp % Cup ¥ Cup 2

(a]  Etate the possibla lemperstuee of walar i Be four cups in the table

below. (1m}

Cup W Cup X CupY | CupZ

Question Type: Essay
Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,458,018

0 pts

0 pts
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Correctly answered feedback

71,51,41,31

Incorrectly answered feedback

71,51,41,31

Question 57 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Harry placed 5 matal bar in 3 comainer of hot watsr at TOOC, Wihean viewsd
through the heat camera, the folkesadng colows were obsarved on the meial bar

. __—— matal bar
]

contairer ol
| Mot waler al
TG

(k) Based on the above diagram, explasn wivy differend colours were
obsanad on tha metsl ber. (1m)

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,458,020

Correctly answered feedback

The bottom end of the metal bar gained heat from the hot water faster than the upper end of the
bar

Incorrectly answered feedback

The bottom end of the metal bar gained heat from the hot water faster than the upper end of the
bar

Question 58 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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An hour laber, when Wiewed throwgh the haat cemera, only ona colour was
observad an the melal tar

F_,__-rrml.all:lar

(cl  Explein why onby one coiour was observed afler a0 hows, (1m)

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,458,027

Correctly answered feedback

The metal rod lost heat to the surrounding. Its temperature decreased to room temperature

Incorrectly answered feedback

The metal rod lost heat to the surrounding. Its temperature decreased to room temperature

Qu estion 59 Primary 6 Science » Primary 6 Science (Prelim)

A sleamer vsos steam to cook vegatablas, The sieam forms when e waler in
past G bobis.

{8) ‘What bz the etate of matter for steam? [1m)

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,458,030

Correctly answered feedback

gaseous state

https://www.classmarker.com/a//tests/test/?test_id=1841171
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Incorrectly answered feedback

gaseous state

Question 60 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

b) Explain why keeping the cooked vegetables in a glass container will keep it warm for a longer period
of time

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,458,035

Correctly answered feedback

Glass is a heat insulator. Hence heat will be lost slower and the cooked vegetable will warm for a
longer period of time

Incorrectly answered feedback

Glass is a heat insulator. Hence heat will be lost slower and the cooked vegetable will warm for a
longer period of time

Qu estion 61 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

The tabla balow shows the minimum empersiiue needed for cooking
diffarent types of food 5o that it i safe 1o asl,

! _ Typaoffeod Minimum cooking temperature (°C)
X L.
¥ 85 3
< i

fe  Ars Ong said Bad the three types of food can be cooked in a steamer until
itz =afe io eat, Based on the table, explain why she is comest. (2m)

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,458,039

Correctly answered feedback

As steam is water vapour at 100, the steamer would have heated the food to 100 which is above
their minimum cooking temperature

Incorrectly answered feedback

As steam is water vapour at 100, the steamer would have heated the food to 100 which is above
their minimum cooking temperature
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